HREWEABRE SHUEETH

(=580 & 2 INE]
EnERIB
NERBREZEINA 3,105,473,443
HEE% /R R 1,672,415,308
BENERIIA 338,301,348
Hig A B SE RN A 225,793,684
BENEZIENERIIA 41,365,944
RS BRI 757,147,864
Z D DFZEUA 70,449,295
pEEEN Y — B RERZEINA 380,564,978
B XIER T ENA 293,769,633
FRAEaBEINA/ EERAL 881,689
HRBTEINA 5,209,473
FEE & AINA 19,947,273
Z D DFZEULA 60,756,910
REXTEEFEIA 157,963,332
Z Db DFZEUNA 157,963,332
AT BFHBIEINA 11,271,072
AT BFHBEINA 11,271,072
REREFHEINA 0
BREREFHEINA 0
SEVR BEEH SN 0
SEVR BEEH U 0
Z D DU 22,629,396
Z Dt DULA 2,606,131
A 20,023,265
EFEFEHINAGH() 3,677,902,221
AGEZH 2,202,274,930
d=F 3t s 816,000
=Ry S 1,628,412,221
BEE5XH 206,212,377
EBE &R H 93,291,934




BEHE (T H 7,707,000
EERABEXH 265,835,398
FEEIH 537,820,543
HREXH 165,672,066
NERAREXH 52,999,343
EEREXH 11,795,767
P - BEEMBETH 8,680,562
REFEETH 10,311,681
EEREXH 981,802
BEIIREETH 9,635,905
KEHBEZH/EEE 165,722,523
BRI ER H/EEE 4,340,339
EREFERERERH 46,352,879
RIERI X H/EEE 0
BT H/EEE 33,473,036
M H/ExE 27,854,640
EBETH 644,327,698
BAEEESH 43,938,621
REZBRERH 11,917,588
HMEMFTE X H 4,084,669
ERHEREX S 15,844,870
ED Rl S A S H 566,725
KENXREZTH/EHE 1,507,096
MR E X H/EHE 334,655
BiEEX H 55,208,396
WIS ERERH 11,720,607
REBETH 0
[LHREXH 24,139,771
EBEFTETH 183,021,785
XINFERIZH 56,409,797
BRI H/EHE 10,543,060
BRI H/EBE 7,412,240
T - BYEBRXZSH 41,563,004
ARAREZ H 17,539,288
RFEIEH 148,328,466
HNETH 557,578
ARBETH 2,246,322
ZoMDER/EHBE 0
ZF Db nERLH 0




MY H/EHE 7,443,160
THF B 29,403,118
TR B 29,403,118
Z DD H 0
M H 0
EEEIHIHE() 3,413,826,289
BETHESIGZEEB)=(1)-(2) 264,075,932
[7EE5 im0 & B U]
M B E/MBIE A 133,512,000
REESEATIA 0
& T & E TS FUNA 0
M E R EUNAET(4) 133,512,000
ZMHESEAETEEETH 174,290,000
EE & ERS S H 380,898,356
774 F VR ) = EHEOIRELE 0
Z DM DR EEEIC L DX H 120,000
M E X HET(5) 555,308,356
MR B EERINZEEE(6)=(4)-(5) -421,796,356
[Z DD ESE)IC & 2 U]
RIS EEIRIRA 1,200,000
B BRI 214,949,122
ZDMDEENIC X BUNA 0
% Dt D EBUNAET(7) 216,149,122
BYEEXH 0
ZDMDIEENIC L BT H 23,764,095
Z D DSEEN ST HEH(8) 23,764,095
ZDDFEENEEIZZEEE(9)=(7)-(8) 192,385,027




[(E27m]

FlaEx H(10) 0
HPESPNXE=FAE(11)=(3)+(6)+(9)-(10) 34,664,603
IR E 2% (12) 838,116,123
HERZINEREE (1) +(12) 34,664,603




